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First Semester Five Year B.A., LL.B. (Hon’s) and B.B.A. LL.B. (Hons.)

Examination, June 2013
SPECIAL ENGLISH

Duration : 2 2
1  Hours Max. Marks : 70

Instructions : 1. Answer all questions compulsorily.

2. Marks will be reduced for illegible handwriting, language

and grammar.

3. Figures to the right indicate marks.

4. Write the correct question numbers while answering.

UNIT – I

Q. No. 1. (a) How is liberal Education advantageous for those who go into
Law course, as advised by Felix Frankfurter ? Marks : 9

OR

Explain how Anton Chekhov describes the trial of Harlamov

in “ In the Court”.

(b) i) Use any three of the following sentence-linkers in your

own sentences : Marks : 3

otherwise ; in other words ; with reference to ; however ;

although ; never the less ;

ii) Fill in the blanks with suitable modal auxiliaries (any two) : Marks : 2

a) If they approach me, I _______________ consider their
case.

b) My father is not well. So, I _______________  go now.

c) We _______________  co-exist peacefully.

d) _______________  I use your telephone ?

e) How _______________  you threaten your own boss ?

f) You _______________  save some money for your

own future.

P.T.O.

http://www.studentbounty.com/
http://studentbounty.com/


UNIT – II

Q. No. 2. (a) What are the remedial measures, suggested by Vanderbit,

for the effective functioning of the Judiciary ? Marks : 9

OR

How has Vanderbit illustrated that a Lawyer can act as an

unselfish leader of public opinion ?

(b) i) Use any three of the following homophones in sentences

of your own meaningfully : Marks : 3

a) Pray-Prey

b) Weather-Whether

c) Soul-Sole

d) Write-Rite

e) Meat-Meet

f) Rise-Rice

ii) Give synonyms for any two of the following words : Marks : 2

intelligent ; obscure ; plea ; fallacy ; refute ;

UNIT – III

Q. No. 3. (a) What are the reasons that made Gandhiji disillusioned with

the British government in India ? Marks : 9

OR

What kind of personality of Gandhiji can be assessed through

his plea for the severest penalty ?

(b) i) Write a paragraph on any one of the following : Marks : 3

a) Appearance is deceptive.

b) To be simple is the most complex thing.

ii) Write a report on any one : Marks : 2

a) A terrible road-accident

b) Organic farmers honoured.
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UNIT – IV

Q. No. 4. (a) Why are the “reasonable murders” dangerous according to

Bernard Shaw ? Marks : 9

OR

What is wrong with the deterrant theories of punishment ?

How has Shaw viewed this problem ?

(b) i) Write a dialogue between two ladies in a silk sari show room
about selection of a very expensive sari. Marks : 3

OR

Write a dialogue between the captains of two cricket
teams about the bad wether condition obstructing their

match.

ii) Refute the following statement : Marks : 2

A man without money cannot survive in a society.

OR

It is dangerous to be too good.

UNIT – V

Q. No. 5. (a) How has Joseph Plank argued for the profession of a Lawyer

against the bitter attack on it by Thackeray ? Marks : 9

OR

How has Joseph Plank’s reaction established a great good

will for a Lawyer’s profession ?

(b) Interpret any two of the following notices : Marks : 5

a) ‘Watch out - Slippery floor’.

b) ‘Knock before entering ‘.

c) Use me.

d) For physically challenged.

________________
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